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1| @#EsW 94.0 8.0 0. 31 3. 86
2| ISF™ 89.7 9.1 0.47 5.17
3| MrET™ 97.3 9.1 0 0
4 @ 93.5 13.7 0.52 3.76
5| &)™ 81.8 8.0 0.43 5.45
6| BT 97.4 1.3 0.19 2.63
| =K 82.8 6.8 0 0
8] =tfmh 88.4 11.3 0.26 2.33
9|  REIMHHET 100.0 3.9 0 0
10{  _ERsHET 100.0 6.4 0 0
11 AR AT A A 83.3 10.3 0 0
12 BFHH 80.0 3.7 0.25 6.67
13| #RLAET 88.9 8.4 0.93 11.11
14|  FREHET 100.0 10.1 0 0
15| kT 100.0 9.3 0.93 10. 00
16|  EIKHET 100.0 9.0 0 0
17 BI5HE 90.0 6.5 0 0
18|  HATXHT 97.0 10. 6 1.29 12.12
19|  JdL ST 92.6 8.3 0.62 1.41
20( ES{EHT 100.0 5.9 0.16 2.178
21 HREFHT 92.3 6.4 0 0
22| E#RHET 90.9 5.1 1.40 27.21
23| DAHEH 12.17 9.1 0 0
24| WA & LHET 100.0 4.9 0.33 6.67
mER 92.6 8.4 0.36 4.27
® E 90. 1 5.9 0.34 5.85
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